
�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� '��

� *+
�(��&���&�,-('�&��-('�&�'�

���������	
������%#&.$/&�0�#&��1%2��
�����	����	���3��4$����5�67��# 8�$9 :%$7��1�$� !:$# #���

*%!�$�6�;
<�;2�
$ �=�

� ���������	���
��	�
����������
����
��
�
���
�
������	����	����
������

���������	
�
����
�����	�����	�
�
��
	�����
������	���
	�
����
	�����������
�����	�
������	�	�������	���������

����	�����������
�����	�
����	��	����
����	�������	������	�	���������	�
��
 ���	
	�
���	������ �����	���
���

���!	��������	������	�
�
��
	���	�
���
���	����
��	�
����
����	���������	�
��
 ��	"����
��	�������
��	���
����

�
�#	���	�
���
���	�
$�
��	��������!	

��������� 	�
���	 �����������
�����	 �
�����	 �����������	 �����
�����	 ����	 �
����
�	 ����
�	 �
��
 ���	 �������
�		

�
��
 ���	���
����
�	�
��
 ��!	

%
��������
��	
�
�&��
���	�����	����
�����	�����
������	���
	�
����	�����������
���	�
������	 �	�����	 �
��������

�����	�����������
���&	�
�&	���	�&��
���	����&�	�����'	�
	�������'	�
�&
 &'�	
	�
���	����& &(��	�&�$����!	)
�������	

�����
�	����
�����	���	�&�����	���
�&	���������	�
�&
 &'	"����
�	������
	�
	�&�$��
#	���	�&����	��$�
��	���&��&�!	

����
�
�	�
���������������
�&	�
���&�	���������&�	�����
�����	���	�
�����	����
	�
�&
 &��	������
	�
�&
 &��	�&�$��
	

�
�&
 &�!�


��:#!1%4$>� .�#�?� %#!$9 :%$8� :#��4$7�

3@A�=� ���B��� �C :D 9$��#5� 0�%:$0��5�� � $:�

D��5/����$ � :��� 9��7� !��$�4$$� ��>� " � !�4$$�

?� %#!�?� !"$$&�
��$9 :#���D!�$/���$0�7�$�D��

#! C�> 0�7� ?� !"$$� /��$:$#� �#� !>��� .�%#�!��-�

�! 0 ��68� D!�.$� 7� ��"!1/%$� $� !��$�4$$2� 1"���

��%����� $� �!$ �#�4$$� D�� � 7� .�#�0��1� 7�

3@E=2� # 0D !�#1!6� !�C�9$8� >9  %� @E2� ��"!1�

/�9�68�$�# 0D !�#1!�68�8�!�%# !$:#$%�@E2�D��

!�0 #!���$�� !#�!���$�D!�9 "���C�!1�����$>&�
�

��:#�>F 01� �! 0 �$� �D1C�$%������ 0��B :#���

!�C�#2� D�:�>F ��68� �D#$0$/�4$$� %��:#!1%4$�

���68� D�!�0 #!��2� %�#�!6 � ��$>�#� ��� :100�!�

�1�� �6!�C�#%1� @A�� �� # 9 �$ � D!����B$# �5�

��"�� $�# !����� �! 0 �$&� ��$C��  � � "%�� D���

���#:>� �D#$0$/�4$$� D�!�0 #!62� ��� %�#�!6 � � �

:1F :#�1 #� %��:#!1%4$���68� �"!��$9 �$7-�

1"��� ��%����� $� �!$ �#�4$>� D�� � 7� @E&� �:�$�

@A���C :D 9$�� #� ��"!1/%1� �� # 9 �$ � � D!�����

B$# �5��"�� !�C�9 "�� D !$���2� ��D!$0 !2� � #� "��

: /���2� 0�B��� ?#$� D�!�0 #!6� /�.$%:$!���#5� ���

�D! � � ��68� /��9 �$>82� �D#$0��5�68� ��>� ����

��"��: /���&��:�$�B �!�C�9$0�D !$���0�>��>�#:>�

� :%��5%�� : /����� $�$� %!1"�67� "��2� #�� 0�B���

D! �1:0�#! #5�%��:#!1%4$���� �$/0 � �$ �?#$8�

D�!�0 #!��&�����%�����D!�%#$% ���@A����:#�#�9�

���C��5G�7�0�F��:#$��1"�����%�����$��!$ �#�4$>��

D�� � 7�.$%:$!����62� $�B ��# �5��2� 9#�C6� ��$�

>��>�$:5� �D#$0��5�60$� D!$� /������0� ! B$0 �

��"!1/%$� $� D!�.$� � !��$�4$$2� 8�!�%# !��0� ��>�

�����7�" �"!�.$9 :%�7�0 :#��:#$&��

��� �
���	��
�����
���
�	
�		��<!�.$�5�

!��$�4$$2� � �C8��$067� ��>� �D! � � �$>� 1"����

��%����� D�� � 72� D! �:#���> #� :�C�7� ����6 � ��

:1#�9��0� D!$8�� � !��$�4$$� ��� D!$ 0�1�� D��

� !8��:#5&� <����>� :��� 9��>� !��$�4$>� ��� ���

%�����7�D�� !8��:#$�0�B #�C6#5��69$:� ���9 �

! /�D!>01��$��$..1/�1��!��$�4$����� "�!$/���

#��5��7� D�� !8��:#$2� ��>� �D! � � �$>� %�#�!68�

$:D��5/1�#:>� ����6 � 0 # �:#��4$72� !�:D����

B ��68� D�� �: 01� 0$!1&� �#�C6� D��19�#5� !��$��

4$���6 �����6 ���>� !�7����2� 1��� ��68��#�0 �

# �:#��4$72� D!$0 �>�#:>� D!$C�$B �$>2� �:���

����6 � ��� $�# !D��>4$$&� � $/C B�6� D!$C�$�

B ��6 � �4 �%$� $� D!$� �D! � � �$$� �#!�B ���7�

%�0D�� �#6� !��$�4$$2� %�#�!�>� /��$:$#� �#� �#!��

B�# �5��7� :D�:�C��:#$� / 0��7� D�� !8��:#$� $�

�%!1B��F "�� :#��4$�� ����G�.#�&� �/0 ! �$>�

%�?..$4$ �#��� �#!�B �$>� ���B�6� D!����$#5:>�

��#�9% �!�:D���B �$>�:#��4$$2�9#����C��5G$�:#�

� � :�19� �� #!1���� ! ��$/���#5&� �#0 #$02� ��%��

� 42� � /��$:$0�:#5�?.. %#$���:#$�@A���#� �:D %�

#!��5��"��:�:#�����:��� 9��7�!��$�4$$2��%�#�!67�

�D! � �> #:>��� ��#��5%���$:#�9�$%�0��$/�19 �$>2��

H��&I&
� �:%$72��&�&*G%�� �%�2�'��(�



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� ''�

��� $� :�:#�>�$ 0� �#0�:. !6&� +���6 � �� :D %#! �

D!�G �G "��:��� 9��"��$/�19 �$>�>��>�#:>� F �

0 �  � D���60$2� 9 0� ����6 � �C� $�# �:$���:#$�

!��$�4$���68� %�0D�� �#&� ��%$0� �C!�/�02� #�9�

�� � �D! � � �$ � 8�!�%# !$:#$%� :��� 9��7� !��

�$�4$$� �� D!�$/���5��� /������7� " �"!�.$9 :%�7�

#�9% � � � D! �:#���> #:>� ��/0�B�602� $� ! 95�0��

B #�$�#$��$G5���D!$C�$B ��68�0�� �>8�:�?0D$�

!$9 :%$0$�D�!�0 #!�0$&�

�/� #! 8� %�0D�� �#� !��$�4$$� 3D!>0�72� �$.�

.1/��7�$��#!�B ���7=���$C��  �#!1�����D! � �> �

0�7� >��> #:>� �$..1/��>� !��$�4$>2� D�:%��5%1� ����

� D�:! �:#� ����/��$:$#��#�!�:: $���F$8�:��7:#��

�#0�:. !�68� 9�:#$4� $� �C��9��"�� D�%!���2� #1!C1�

� �#��:#$��#0�:. !6�$��!1"$8�.�%#�!��&����$0�$/�

�9 �$��68� :D�:�C��� �D! � � �$>� �$..1/��7� !��

�$�4$$� >��> #:>� ��8�B� �$ � ! "! ::$���68� /��$�

:$0�:# 7�0 B�1��$..1/��7�$�D����7�!��$�4$ 7����

"�!$/��#��5��7� D�� !8��:#$� �� �����7� 0 :#��:#$2�

 :�$� #�%$ � ����6 � ��:#1D�6&� <�:#!� �$ � ! "! :�

:$$�D�/���> #�D! �:%�/6��#5� /��9 �$>��$..1/��7�

!��$�4$$�D��$/0 ! �$>0�D����7�!��$�4$$����"�!$�

/��#��5��7�D�� !8��:#$&��

����7� $/� D !�68� 0�� � 72� :�>/6���F$8�

�� ��1�� �$..1/�1�� $� D���1�� !��$�4$�2� >��>�

��:5� $/�#!�D��>� 0�� �5� J$1�K�!����� L�M2� :��

"��:���%�#�!�7�$�# �:$���:#5�!�:: >���"��$/�1�

9 �$>� �� %�B��7� #�9% � � C :��7� D��1:. !6� :9$�

#� #:>���$��%���7&���!�/�$#$ �$/�#!�D��7�0�� �

�$�C6���6D��� ��!>��!�C�#2���%�#�!68�D! ���"��

��:5�����:��� �0 # �����68���9�:���7�D!>0�7�$�

D����7� !��$�4$$� �4 �$��#5� �$..1/�67� �%���� ��

D���1�� !��$�4$�� ��� !�/�68� �! 0 ��68� $�# !�

����8� L'M2� 19$#6��#5� %�!! �>4$���$..1/��7�!��

�$�4$$� :� %�?..$4$ �#�0� D!�/!�9��:#$� $� 1"��0�

D��N 0������4��LO2�,M2�!�::0�#!$��#5�/��$:$0�:#5�

�$..1/��7�%�0D�� �#6��#�/ 0��"����5C ��2����$�

9$>� �?!�/�� 7� $� #1!C1� �#��:#$� L�M2� 19$#6��#5�

# 0D !�#1!1� �C�$/$� / 0��7� D�� !8��:#$2� �#��:$�

# �5�1�� ���B��:#5� $� 1"��� D��N 0�� ����4�� D!$�

!�:9 # �$�� %:���C��9��:#$2�9#��D�/���> #�10 �5�

G$#5�:#����!#�1���G$C%1�$/�#!�D��7�0�� �$�L(M&�

	�/�$9�60$� $::� ����# �>0$� #�%B � C6�$�

!�/!�C�#��6�0�� �$���$/�#!�D��"��� C�2���%�#��

!68�19$#6����:5�D��6G �$ �>!%�:#$�1�"�!$/���

#��$��C�$/$�:��� 9��"���$:%�&�<!$�?#�0�D!>0�>�$�

�#!�B ���>� %�0D�� �#6� !��$�4$$� !�::9$#6���

�$:52� %�%� D!��$��2� �� � :��#� #:#�$$� � :� 0�� �5��

J$1�K�!����2� �� ��$/�#!�D�67� 8�!�%# !� $0 ���

�$..1/��>�%�0D�� �#��LP−��M&���L��M�C6���D�%��

/���2� 9#�� ��$C��  � #�9�� � D! �:%�/��$ � !��$��

4$$���>���%����68�D�� � 72��!$ �#$!�����68����

�"2� ���#� 0�� �$� !�C�#� L�2� ��M&� ����%�� ��� �: 8�

��$/�#!�D�68�0�� �>8� 3%�%�$� �� $/�#!�D�68=� �:�

�����7�D!�C� 0�7�>��> #:>�D ! :9 #��$..1/��7�

!��$�4$$2� $/0 ! ���7� ��� "�!$/��#��5��7� D��:�

%�:#$2���!��$�4$�������%�����7�D��:%�:#$&�

*%�/���6 ��6G �0��$.$%�4$$�$/�#!�D��7�$�

��$/�#!�D��7� 0�� � 7� �#��:>#:>� %� :#�#$:#$9 �

:%$0� 0�� �>02� D�:%��5%1� ��$� D!$�>/��6� %� :#��

8�:#$9 :%$0� ?%:D !$0 �#��5�60� ����60� �� !��

�$�4$$� �� %��%! #��0� 0 :# &� E�� �52� �#�$9�1��

�#�:#�#$:#$9 :%$8�$��#��:>F1�:>�%�.$/$9 :%$02�

D! ���B$��E�%:� ���L�'M&���� 7���>��4 �%$�D!>�

0�7���!0��5���D����F 7�!��$�4$$�$:D��5/1 #:>�

.$/$9 :%$7�D�!�0 #!�Q��#0�:. !��>�0�::�� ���� &�

� ! /� ���� $�%�?..$4$ �#�D!�/!�9��:#$���?%:D��

� �4$��5��7� .�!0 � �6!�B� #:>� %��$9 :#���

D!�G �G 7� 9 ! /� �#0�:. !1� D!>0�7� !��$�4$$2�

D�?#�01� #�%�>� 0�� �5� ��/6�� #:>� ?%:D�� �4$�

��5��7&��#0 #$02�9#��C��  �D���67��C/�!��:����

�68� 0�� � 7� :��� 9��7� !��$�4$$2� !�/!�C�#���

�68� %� ��:#�>F 01� �! 0 �$2� 0�B��� ��7#$� ��

:#�#5>8�L��2��O2��,M&�

�� ��:#�>F 7� !�C�# � 06� C1� 0� $:8��$#5� $/�

D! �:#��� �$>� D����7� :��� 9��7� !��$�4$$� ���

��%����1�� D�� !8��:#5� %�%� :1006� %�0D�� �#�

D!>0�7� ��� 2��$..1/��7� ��� �$��#!�B ���7�!��$��

4$$� 	�� � L��2� �(M&� ���#� #:#� ���� D!$8��� !��$��

4$$���� �$�$41�D��F��$���%�����7�D�� !8��:#$�

��# 9 �$ ���>�
��6!�B� #:>�$�# "!���0-�

[ ]2 3 = 3 = 3 = 3 = 2




����� � �� �� 	�




� 
 � � � �τ τ τ τ= + +∫ �3�=�

"� ��6D���> #:>�$�# "!$!����$ �D���! 0 �$�τ ���

$�# !��� � 

 � 3D!����B$# �5��:#5�:� #���"����>�

:� ��0 !�0� 
=&� +� ���>� :100�� D!>0�7� !��$�4$$�

�6!�B� #:>�%�%��

�

3 = 3 =RST3 3 ==

UVW3 3 == RST3 3 == 2







�� ��







� 
 � �

� �� �

τ θ τ τ

τ θ τ τ

= =

= −

∫
∫ � 3'=�

"� � 3 =��� τ Q� $�# �:$���:#5� D!>0�7� !��$�4$$����

D�� !8��:#$2� ��!0��5��7� %� :��� 9�60� �19�0X��



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� 'O�

�� Q�$�# �:$���:#5�$/�19 �$>����� !8� 7�"!��$4 �

�#0�:. !6�3$/0 � �$ 0�?#�7�� �$9$�6���# 9 �$ �

"���� D! � C! "� 0=X� 3 =� τ Q� �#0�:. !��>� 0�::�2�

%�#�!�>� �� !�::0�#!$�� 0�7� 0�� �$� D!�D�!4$��

���5�����$� �D1#$�:��� 9�68��19 7����#0�:. ! �

$�D�?#�01�/��$:$#��#��! 0 �$�τ X� 3 =θ τ Q�1"���D��

� �$>2�!���67�1"�1�0 B�1���!0��5��%�D!$ 0��7�

D�� !8��:#$�$���D!��� �$ 0��������4 &��

+�>� �69$:� �$>� �$..1/��7� %�0D�� �#6�

D!$8���� !��$�4$$� $:D��5/1 0� $/�#!�D�1�� 0��

� �5�!�:: >���"��$/�19 �$>� L�2���2��PM2� :�"��:���

%�#�!�7��

3 = 3 = 3 = 2


 


�� �� � �� ��


 


� 
 � � � �� � �τ τ τ τ= =∫ ∫ �3O=�

"� � 3 =�� τ Q��$..1/��>�!��$�4$>����"�!$/��#��5�

��7� D�� !8��:#$X� 3� RST = Y 'β= +��� Q� 1"����7�

.�%#�!�;TZ[�T\]^_RU;X���Q�?0D$!$9 :%$7�%�?..$�

4$ �#2� :� D�0�F5�� %�#�!�"�� �$..1/��>� %�0D��

� �#�� �� � �6!�B� #:>� 9 ! /� ��� -� � ��� ��= &� 
��

?..$4$ �#��� �C69��� �D! � �> #:>� ��>� %�B��"��

%�� ���!��"�� 0 :>4�� 3:0&2� ��D!$0 !2� :#����!#�

`�ab`c�L��M=&�

�%���� �#!�B ���7� !��$�4$$� �� ?� !"$��

2 3 =����� �� 
 � 3�=� �� !�0%�8� !�::0�#!$�� 0�7� 0�� �$�

!�� �-�

3 = 3 = 2




	� �� 	




� 
 � � �τ τ= ∫ � 3,=�

"� � 3� RST = Y '��� β= − Q� 1"����7� .�%#�!� ;TZ[�

d]S\ef;X 	� Q� $�# �:$���:#5� �#!�B ���7� %�!�#�

%��������7� !��$�4$$2� %�#�!�>� �D! � �> #:>� �#�

!�B�# �5��7� :D�:�C��:#5�� / 0��7� D�� !8��:#$�

3��5C ��= �ρ �%�%��

[ ] ( )3 = 3 = 3 = RST 3 = 3 =2	 � � � ��� � � � �τ ρ τ τ φ τ τ= + = + 3�=�

"� � 3 =�� τ � $� � 3 =�� τ Q� $�# �:$���:#5� D!>0�7� $�

�$..1/��7�!��$�4$$���� "�!$/��#��5��7�D�� !8�

��:#$&� �/� D!$� � ��68� �6G � .�!01�� :� �1�#�

9�:#�� $:D��5/1 06 � �6!�B �$>� ��>� �69$:� �$>�

D�0 :>9�68� :100� !��$�4$$� �� !�/�$9�68� ! "$��

��8�3��D!$0 !2�L��2�'�M=&�

��� ���
��� 
��	�	�
�		� ���
�� �
��
�
��

�1F :#�1�#� !�/�$9�6 � D��8��6� %� �D! � � �$��

�D#$0��5�68� 1"���� ��%����� $� �!$ �#�4$$� D�� �

� 7�@E2�%�#�!6 �!�/�$9��#:>2�D! B� ��: "�2�$:�

D��5/1 060$� 0�� �>0$� !�:9 #�� !��$�4$$&� �:�$�

��>�/������"��0 :#��!�:D���B �$>�@A��$0 �#:>�

��:#�#�9��� D��!�C�6 � �%#$��0 #!$9 :%$ � ����

�6 2�#��4 � :��C!�/���$:D��5/���#5�$0 ����$8���

��8�B� �$$� �D#$0��5�68� 1"���&� �:�$� B � #�%$ �

����6 �� ��:#1D�62�#��9�:#��D!$C "��#�%�����$�

#$9 :%�7� 0�� �$� � C :��7� !��$�4$$� 3;TZ[�

]_fg_eRU�hSfUi;=� L��2��(M2���/6�� 0�7�#�%B �;0��

� �5��>:��"��� C�;&�

��$C��  �D!�:#�7�D��8���%��D! � � �$��1"���

��%����� D�� � 7� β � /�%��9� #:>� �� 1:#����� �$$�

 "��:�>/$�:�" �"!�.$9 :%�7�G$!�#�7���0 :#��!�:�

D���B �$>� @A�-� ��D!$0 !2� ��>� D�� � 72� �!$ ��

#$!�����68�����"2�$���>�� #� "��: /���� β ��6C$�

!� #:>���������°�0 �5G ���$���>�/$0� "��: /�������

�����°� C��5G � �� L��M&� <! ���"��#:>� $� $�6 � $��

# !���6�1"������%����2���D!$0 !2� ��β = ± ° L'�M2��
'��β = ± ° L''M2� "� � /��%�D��:��#��:$#:>�%� /$0�

� 012���0$�1:�Q�%�� #� 01�D !$��1&�� :��#� #:#�

�$>�1%�/���68�� �$9$��0�"1#�C6#5�:�>/��6�:�!�/�

�$9$ 0� $:D��5/1 068� !�:9 #�68� 0�� � 7� $2� ��

D !�1�� �9 ! �52� :� !�/�60$� :D�:�C�0$� �D! � � �

�$>��$..1/��7�%�0D�� �#6�!��$�4$$&�

�D! � � �$ ��D#$0��5��"��1"�����%�����@E�

�:���6�� #:>2�%�%�D!��$��2����?%:D !$0 �#��5���

$/0 ! ��68�����68�Q�/��9 �$>8�!��$�4$$����"��

!$/��#��5��7�$���%�����7�D��:%�:#$&�<�:%��5%1�

:��� 9��>� !��$�4$>� >��> #:>� :�19�7��7� � �$9$�

��72�� �C8��$0��$:D��5/���#5���!�:9 #�8�0 # ��

����6 2� 1:! �� ��6 � /�� �����5��� D!����B$�

# �5�67� D !$��� 3C��  � �� � #=&� ��%$ � ����6 � � �

�: "����%�/6���#:>���:#1D�60$2�D�?#�01�!�:9 �

#6� 9�:#�� �:���6���#:>� ��� $/0 ! �$>82� �6D���

� ��68� /�� � :50�� %�!�#%$ � D !$��6� 3��D!$0 !2�

/����$��"��=�L'OM&�<��>#��2�9#����� B��:#5�D��1�

9 ��68�! /1�5#�#�����?#�0�:�19� �� � �$%�&����

<!$��D! � � �$$��D#$0��5��"��1"�����%�����

D�� � 7�9�F ��: "��$:D��5/1 #:>�1:���$ �0�%:$�

010�� D!$8���� !��$�4$$� /�� �6� � ��67� �#! /�%�

�! 0 �$&� �� !�C�#�82� $:D��5/1�F$8� $/�#!�D�1��

0�� �5��$..1/��7�!��$�4$$2��D#$0��5�6 �1"�6�

��%������C69����D! � �>�#:>�D1# 0�9$:� ���"��

0�� �$!����$>� L'O2�'�M&��������7�:#�#5 �D�%�/��

��2� 9#�� ?#�� /���9�� �D! � � �$>� 1"���� ��%�����

$0  #� #�9�� � ����$#$9 :%� � ! G �$ 2� C��"���!>�

9 01� :1F :#� ���� :�%!�F� #:>� � �C8��$067�

�CN 0���69$:� �$7&�<!$���4 �% ��%�0D�� �#�:���



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� ',�

� 9��7�!��$�4$$�$:D��5/1�#:>�0��"�� #�$ �0 �

# �����6 � $/� ��18� $:#�9�$%��-� ����68� 0 # ��

:#��4$7� *%!�$�6� L',M� $� C�/6� ����68� �`�`�

�������������������������������������L'�M&��: �?#��

D�/���> #�$/C B�#5�C��5G$8�D�"! G��:# 7����6�

9$:� �$$� �D#$0��5�68� β 2� �� �� :�19� � :1F :#�

� ���"�� !�:8�B� �$>� ! /1�5#�#��2� D��19 ��68�

��� �:��� � ��18� $:#�9�$%��2� ��:D��5/���#5:>�

:! ��$0$�/��9 �$>0$&�

�� ��:#�>F 7� !�C�# � D! �D���"� #:>2� 9#��

0�%:$0��5��>� ?.. %#$���:#5� @A�� ��:#$"� #:>2�

%�"��� �C :D 9$�� #:>� 0�%:$0��5�67� D!$8��� !��

�$�4$$� /�� !�C�9$7� D !$��&� ����%�� D!$� C��  �

D����0�$::� �����$$�?.. %#$���:#$�@A��� �C�

8��$0��19$#6��#5� ��$>�$ � # 0D !�#1!��"��.�%�

#�!��L'(M2�$/0 � �$ �:D %#!��5��"��:�:#����$/�1�

9 �$>� �� # 9 �$ � ��>� L'PM2� /��$:$0�:#5�
<+�.��

#�D! �C!�/���# �>��#�1"������%�����L'�M&��

 �� ���
������
��������!�
��	�	�
�	
�"

�
�
� �
����
�� <�:%��5%1� %!$# !$ 0� D!$� �6C�! �

�D#$0��5��"�� 1"��� ��%����� >��> #:>� 0�%:$010�

:1006�!��$�4$$�/��!�C�9$7�D !$��2�/�D$G 0�:���

9���� .�!01�1� ��>� �� ���7� :1006� D����7� !��$��

4$$&��:8��>�$/��6!�B �$7�3'=−3�=2�D��19$0-�
2 �3 = 3 =

�
3 = RST 3 = 3� = RST 3 = RST 2

'



����� �

�� � �




� 
 � 


� � �τ θ τ ρ ρ φ τ β τ
= +

  + + − −   ∫
�

3(=�

"� � � 3 =� 
 �Q�:��"� 0� 2�� �/��$:>F  ��#�1"������

%�����D�� �$� β �$�!���� -�

�

�
3 = 3 = 3� = RST 3 = &

'



�� � �




� 
 � � �τ ρ ρ φ τ τ = + + ∫ � 3P=�

*"���D�� �$>� θ �$/� :#�60��C!�/�0� L�(2��PM�

�6!�B� #:>� 9 ! /� β 2� φ 2� �/$01#��5�6 � 1"�6� j�

3�/$01#�����4�=� $�jT� 3�/$01#�D!� %4$$���!0��$�

D�� �$� ��� "�!$/��#��5�1�� D��:%�:#52� �#:9$#���

�67� �#� ��D!��� �$>� ��� �"� ��>� : � !��"�� D��1�

G�!$>=-�

( )TRST RST RST Tge Tge RST j jθ β φ β φ= + − &�

<�:� � D��:#����%$� ?#�"�� �6!�B �$>� �� 3(=�

$0  0-�

[ ]
2 �3 = 3 =

3 = 3 = RST 3 =Tge 2τ τ β τ β τ
= +

+ +∫



����� �

�� � �




� 
 � 


� � � �

�

3�=�

"� ���

( )T
� �

3 = 3� = 3� =RST 3 =2
' '

3 = Tge 3 = RST j3 = j &

τ ρ ρ φ τ
τ φ τ τ
= − + −

= −

� � �

�

� �

� �
3�=�

� �CF$7�D!$8���!��$�4$$���� �$�$41�D��F��

�$� ��%�����7� D�� !8��:#$� /�� !�C�9$7� D !$���

��8��$#:>� :100$!����$ 0� �� ��68� �%������

2 3 =����� �� 
 -�

�

2 2 3 =2
�


����� � ����� �


 


� � 

=

=∑ � 3��=�

"� � �
 2 �
 �Q���9��5�67�$�%�� 9�67���$�!�C�9 "��

D !$���&� �D#$0��5�67� 1"��� ��%����� D�� � 7�

��7� 0�$/�1:���$>�0�%:$010�� 2����� �� -�

2
�2

����� ��

β
∂

=
∂

� 3��=�

9#��D!$���$#�%�!�� �:#�1-�

�

�

3 = 3 =

kd &

3 = 3 =

�




�







�� �


 
 


� � 


�� �


 
 


� � �

� � �

τ τ τ
β

τ τ τ
=

=

=

∑ ∫
∑ ∫

� 3�'=�

<�:� �D! �C!�/����$7�?#�"��!�� �:#���D��1�

9$0� .�!01�1� ��>� �D#$0��5��"�� 1"��� ��%����2� ��

%�#�!�7� 19$#6���#:>� �: � #!$� %�0D�� �#6� !��

�$�4$$-�

( )
�

�

T3 = kd 3 =RST j3 = j

kd
� �

3� = 3 = 3� = 3 =
' '

�




�




�


 
 


� � 


� � � �


 


� �

� 
 � 


τ φ τ τ τ
β

ρ ρ
=

=

−
=  − + −  

∑ ∫
∑

2�3�O=�

"� ��

3 = 2




� �




� 
 � ! "�τ τ= ∫
�

3 = 2




� �




� 
 � ! "�τ τ= ∫ � 3�,=�

#& &�:1006�/��� �5� 
�D!>0�7�$��$..1/��7�!��$��

4$$����"�!$/��#��5�1��D�� !8��:#5&�<��19 ��� �

�6!�B �$ � 3�O=� >��> #:>� C��  � �CF$02� 9 0� $/�

� :#��>� $/� �$# !�#1!6� L'�2� O�M� .�!01��� ��>� �D�

#$0��5��"�� 1"��� ��%����� 3�$�� ?#�7� .�!01�6�

:��D��� #� :� 3��==&� �� D�:� �� 7� � � 19$#6�� #:>�

�$..1/��>� $� �#!�B ���>� %�0D�� �#6� !��$�4$$2�

�� #�%B � :1#�9�6 � � /��$:$0�:#$� � / �$#��"�� � $�

�/$01#��5��"�� :��� 9�68� 1"���&� 
�%� �$���� $/�

.�!01�6� � 3�O=2� � :� � 1� �$9 �$ 0� � $�# �:$���:#$��

�



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� '��

�$..1/��7� %�0D�� �#6� �� :� �1 #� 10 �5G�#5�

1"�����%����� � � �β 2�9#�C6�C��5G�>�9�:#5�D��F��

�$�� C�:������:� F����D�� !8��:#5�D�� �$&��:�$�

B �� �$%��:�:#���>�F�>��#!�B ���7�%�0D�� �#62�

#�� �1B��� 1� �$9$��#5�
� �β � :��#� #:#� ���� �#!$�

4�# �5��01��%���1���/��0 ��# �5�3�O=�:��"� 068�:�

�ρ &� ��$>�$ � D!>0�7� !��$�4$$� ��� 1"��� ��%�����

:�:#�$#���#�02�9#�C6�D!$C�$/$#5�/��9 �$ �
� �β ��%�

/ �$#��01�1"�1�3:0&�9$:�$# �5��!�C$�3�O==&�
�

l��9 �$>� � �$9$� 3 =�� 
 $� 3 =�� 
 � �� 3�O=�

0�B����69$:�$#5�����$#$9 :%$2�D��5/1>:5�0�� �

�5��;>:��"��� C�;�L��2��(M2��$C��0�B�����:D��5�

/���#5:>� 0 # �!���"$9 :%$0$� ����60$&�<!$� $:�

D��5/����$$� 0 :>9�68� :100� !��$�4$$� 1��C���

�D !$!���#5�1:! �� ��60$�� �$9$��0$-��

�
3 = 3 =2� �


 ��

� � � 

# ∈

= ∑
�

�
3 = 3 =2� �


 ��

� � � 

# ∈

= ∑ �3��=�

"� � �#
�
Q�9$:����� 7���0 :>4 ��&�<!$�?#�0�/���

0 ��# �5��!�C$�3�O=�0�B����6!�/$#5�9 ! /�� �$�

9$�6� 3��=2� �� D!$� �69$:� �$$� 9$:�$# �>� D!$0 �

�$0�:� �1�F  �D!$C�$B �$ -�C1� 0�:9$#�#5�D��

� �$��!$ �#$!�����60$�����"�3 Tj m�=�$�/�0 �$0�

D��6�# "!��5�� � �6!�B �$ �  "�� /��9 �$ 02� �#�

� 9��F$0� :��� 9��01� D�����2� %�"��� �/$01#��

j �= �$�/ �$#�67�1"���!�� �-�

�'3 = 
�
 
�φ τ φ δ
=

= = − 2� 3�(=�

"� �
�
Q�$:#$��� �:��� 9�� ��! 0>���9�:�8�3n]\U�

�Si_]�nghU=X� 
δ Q�1"���:��� 9��"��:%��� �$>���
�7�

� �5&�<!$�/�D$:$�3�(=�:9$#� 02�9#��G$!�#����!�:�

D���B ��� : � !�  � #!�D$%�� 	�%�&� �� ! /1�5#�# �

�0 :#�� $�# "!���� �� 9$:�$# � � �!�C$� 3�O=� $0  0�

D!$C�$B ��� ��6!�B �$ -�

( )T3 = kd 3 =RST j3 = j 3 = kd3 =&




� � 





� � � 
 �τ φ τ τ τ δ− ≈ −∫ �3�P=�

�#0 #$02� 9#�� $:D��5/����$ � ?#�"�� D!$C�$�

B �$>� 4 � :��C!�/��� D!$� �"!��$9 ���:#$� :D!��

��9�68� ����682� �� $0 ���� �#:1#:#�$$� 1:! �� ��

�68� /�� ��$# �5�67� D !$��� /��9 �$7� 3 =�� τ ��>�

%�B��"��9�:��:� #��"����>&��

*9$#6��>�!�� �:#��� 3�,=2� 3��=�$� 3�P=����6!��

B �$$� 3�O=2� D��19$0� :� �1�F1�� .�!01�1� ��>�

�D#$0��5��"��1"�����%�����D�� � 7-�

3 =kd3 =

_]Rkd &
� �

3� 3 == 3 = 3� 3 == 3 =
' '

� �

�
� �

� � � �

�

� � �

� � � � � �

δ
β

ρ ρ

−
=  − + −  

∑
∑

3��=�

l� :5�:100$!����$ �D!�$/���$#:>�D��0 :>4�0�

�� !�C�9 "�� D !$���� :��� 9��7� 1:#����%$&� l��9 �

�$>� 3 =2 3 =2 3 =� � �� � � � �ρ � �D! � �>�#:>� $/� 0 �

# ���C��� �$7� /�� D!����B$# �5�� � �! 0>� �#� � �

:%��5%$8�� #����� :>#$� #$72���1"���:%��� �$>� �δ �

�69$:�> #:>���>�:! �$�6�0 :>4�2���D!$0 !2�%�%�

�

O(�
Tge 3O� '(�= 2 "!��&2

O(�
� �δ δ  ≈ +   �

"� � � 'O2,�"!��&δ = �Q�0�%:$0��5�� �:%��� �$ &��

#�� $�	����� �
����
� 
��	�
������ ���
��

ββββ��<!$� � 0���%�9 :#� �D!$0 !��! /1�5#�#6�!�:�

9 #���D#$0��5�68�1"������%�����.�#�?� %#!$9 �

:%$8�D�� � 7���"&�l�D�!�B5 ���>�!�/�$9�68�!�C��

9$8� D !$����� :C�!�� :��� 9��7� !��$�4$$&� ��%�7�

!�:9 #�C6��D!�� � �� :� $:D��5/����$ 0�:D!���9�

�68� ����68� L',M2� D��19 ��68� ��� ��%��5�68� �%�

#$��0 #!$9 :%$8�:#��4$>82�$�C�/6�����68��`�`�

L'�M2� D��19� 068� �C69��� D1# 0� $�# !D��>4$$�

! /1�5#�#��� :D1#�$%��68� !��$�0 #!$9 :%$8� $/�

0 ! �$7&� �#0 #$02� 9#�� �� :D!���9�$% � L',M� D!$�

� � �6� ����6 � ��>� �: 8� #! 8� � �$9$��

3 =2 3 =2 3 =� � �� � � � �ρ 2� �� #�� �! 0>� %�%� �� L'�M� Q�

����6 �#��5%����>� 3 =2 3 =� �� � � � &�<�?#�01�D!$�

!�:9 # � ��� �:��� � ����68� �`�`� �� %�9 :#� �

3 =� �ρ �C6�$��/>#6�/��9 �$>�$/�L',M&��

	 /1�5#�#6� !�:9 #�� D!$� � �6� �� #�C�&�&� ��

?#�7� #�C�$4 � 1%�/��6� �D#$0��5�6 � 1"�62� D��1�

9 ��6 � :� 19 #�0� :1006� D����7� !��$�4$$� 3��=2�

:1006�#��5%��D!>0�7�!��$�4$$2��69$:�> 0�7�D��

.�!01� -���

3 = kd 3 =

_]Rkd
3 =

� �

�
� �

�

�

� � �

� �

δ
β

−

=

∑
∑ 2� 3��=�

$�:1006�D!>0�7�$��$..1/��7�%�0D�� �#�!��$��

4$$-��

3 = kd 3 =

_]Rkd
�

3 = 3 =
'

� �

�
� �

� �

�

� � �

� � � �

δ
β

−
=  +  

∑
∑

&� 3'�=�



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� '(�

%
&�	�
�������	�
������������
��
�
��
�
�
������

'
�
��
$��	
���

�
&
��(������

)�
��ββββ����
�	�	�
��	�
����	���
������
��
������
�	
�		�

$
��
!� $�!�
!� $�!�
!�	��	�����
!�

*�#+� *�,+� *�#+� *�,+� *�#+� *�,+�

l�D�!�B5 �

�'�'�3/$0�=� �O2�� (O2�� (�2�� ((2'� ,,2P� �(2O�

���'� O'2P� O(2�� O�2,� ,�2�� '�2'� OO2'�

O���� O�2�� '�2P� O(2'� O(2�� 'P2�� '�2P�

,���� '�2,� O�2�� O,2�� O,2�� '(2,� 'P2��

���� 'P2,� 'P2�� O�2�� O�2�� ',2�� '�2��

(���3� #�=� ',2P� '�2O� '�2�� '�2�� ''2�� ''2(�

�

,�� ���
����� �������
��� 	� ���
���� ��

�����7� !�C�# � !�/!�C�#��� ����$#$9 :%$7� 0 #���

!�:9 #�� �D#$0��5�68� 1"���� ��%����� .�#�?� %�

#!$9 :%$8� D�� � 72� �� %�#�!�0� �� %�9 :#� � D�!��

0 #!��2� 8�!�%# !$/1�F$8� ��%��5�1�� !��$�4$�2�

0�"1#� C6#5� $:D��5/����6� %�%� :D!���9�6 � ����

�6 2� #�%� $� !�:9 #�6 � � �$9$�62� D��19� 06 � :�

D�0�F5�� !�/�$9�68� # �! #$9 :%$8� 0�� � 7�

:��� 9��"��$/�19 �$>�3��D!$0 !2�0�� �$�;>:��"��

� C�;=&� �� D�:� �� 0� :�19� � �� %�9 :#� � 1:�� !�

G �:#�����$>� # �! #$9 :%�7� 0�� �$2� �D ��$�

!1�F 7� #��5%�� %� :��� 9�60� 1"��02� 0�B��� $:�

D��5/���#5� !�/�$9��"�� !���� D�D!��%$� ��� D!��

/!�9��:#5� �#0�:. !62� 9$:��� D�:01!�68� �� 7� $�

�!1"$ 2���#�%B �! "! ::$���6 �0 #��6�#$D����"�

:#! 0��< 7�B��L��2��PM�:�$:D��5/����$ 0�����68�

��>�D!����B$# �5��:#$�:��� 9��"��:$>�$>&�

	�:9 #62��6D��� ��6 �����:��� ���18�#$D���

����68� 30 # �!���"$9 :%$7� :D!���9�$%� *��	�

L',M� $� � C�! :1!:� �`�`� L'�M=2� D�%�/��$� 1���� �

#��!$# �5�� � :��D�� �$ � /��9 �$7� �D#$0��5�68�

1"���� �$G5� D!$� 19 # � D!>0�7�$� �$..1/��7� %�0�

D�� �#� !��$�4$$&� *9 #� �$G5� D!>0�7� !��$�4$$2�

�6D���> 067� D�� .�!01� � 3��=2� :��D����F 7� :�

.�!01��7���>��D#$0��5��"��1"�����%�������!�C��

#�8�L'�2�O�M2�D�%�/���/��6G ��6 �! /1�5#�#6�D��β&��
�1F :#� ��6 � !�:8�B� �$>� �� !�:9 #�8� :�

��10>� #$D�0$� $:8���68� ����68� D�>��>�#:>� D!$�

19 # ��#!�B ���7�%�0D�� �#6�3D����>�!��$�4$>=2�

9#���$����$/��:#��C4���;<����>;&����%� �!�:8�B� ��

�$ � 0�%:$0��5��� ��>� !�C�9 "�� D !$���� Q� /$062�

#& &� %�"��� ��$C��  � � �$%�� !��5� $/�19 �$>2� �#!��

B ���"���#�:� B��"��D�%!���&�A#��:�$� # �5:#�1�

 #� �� ��B��:#$� �� /���9�8� �D#$0$/�4$$�β� %�!! %#�
��"�� 19 #�� ��5C ��� / 0��7� D�� !8��:#$2� �� #�%B �

�#!�B �$>�$/�19 �$>��#��%!1B��F "������G�.#��

$�:#!� �$7&�+��5� 7G$ �!�:9 #62��6D��� ��6 ���

�����7� !�C�# 2� D�%�/��$2� 9#�� $:D��5/����$ � ���

/ 0�68�����68�D�� 3 =� �ρ L',M���!�:9 #�8�����:���

� � :D1#�$%��68� $/0 ! �$7� L'�M� D!$���$#2� %�%�

D!��$��2�%�/��6G ��60�/��9 �$>0�β&���
�:�$�� �19$#6��#5���!�:9 #�8�β��#!�B ��1��

!��$�4$�2� ?#��0�B #� D!$���$#52� %�%� D�%�/���� ��

!�C�# 2� %� /��$B �$�� 1"���� ��%����� �#� � :%��5�

%$8�"!��1:���3��>�!�C�#6�� #�0�$���0 B: /��5 =�

���� :>#%�� "!��1:��� 3��>� /$0� "��D !$���=&���/�

0�B��� �� � �$ � :$:# 0�#$9 :%$8� D�D!���%� ���

��5C ��� %� ����60� !�:9 #��� ��� �:��� � D!>0�7� $�

�$..1/��7�!��$�4$$2�����%��?#�#���D!�:�#! C1 #�

��D���$# �5��"��$/19 �$>&��

�&� ���� �$%$&$'� (������ 	$�$� noU� gekU]]Ui_kgSeTogW� _ef�

Ro_]_RkU]gTkgR�fgTk]gp\kgSe�S^�fg]URk2�fg^^\TU�_ef�kSk_i�TSi_]�]_fg_�

kgSe�YY��Si_]�ceU]d[&�Q���(�&�Q��S&�O&�Q�qSi&�,&�Q�r&��Q��&�

'&� ��)���$*$'� +����� �$�$'� ������� ($�$� cTkgh_kgSe� S^� koU�

fg^^\TU� ]_fg_kgSe� ^]_RkgSe�^S]�oS\]i[2�f_gi[�_ef�hSekoi[�_sU]_dU�

diSp_i� ]_fg_kgSe� YY� �Si_]� ceU]d[&� Q� ���'&� Q� qSi&� '�&� Q� �S&� ,&��

Q�r&�'�OQO�'&�

O&� �,)���#$� r]UfgRkgSe� S^� oS\]i[� fg^^\TU� TSi_]� ]_fg_kgSe�

^]Sh�hU_T\]Uf�oS\]i[�diSp_i�]_fg_kgSe�Se�_�oS]gjSek_i�T\]^_RU�YY�

�Si_]�ceU]d[&�Q�����&�Q�qSi&�',&�Q��S&��&�Q�r&�,��Q��O&�



�����������	
���
�� ���������������

�

������������� � !" #$%�&�'��(&�)��� 'P�

,&� �-���.�����$'�/����0�($�$�`�hSfUi�^S]�koU�fg^^\TU�^]_R�

kgSe�S^�oS\]i[�diSp_i�]_fg_kgSe�YY��Si_]�ceU]d[&�Q����P&�Q��S&�,&��

Q�qSi&�O�&�Q�r&�'P�Q'P,&�

�&� *��������($�$�`�Tk\f[�S^� koU�fgsgTgSe�S^�diSp_i� g]]_�

fg_eRU�gekS�fg]URk�_ef�fg^^\TU�g]]_fg_eRU�_k�kog]k[�ko]UU�t&�&�TgkUT�

YY��Si_]�ceU]d[&�Q�����&�Q��S&�,&�Q�qSi&�O�&�Q�r&�O,�QO��&�

(&� 	�������$
$'����-����1$�$'��������($�&�ug^^\TU�^]_RkgSe�

RS]]Ui_kgSeT�YY��Si_]�ceU]d[&�Q�����&�Q��S&��&�Q�qSi&�,�&�Q�r&��QP&�

P&� 
�� �� 	$�$'� �������� +$�$� �Si_]� ]_fg_kgSe� geRgfUek�

\WSe� TiSWUT� S^� fg^^U]Uek� S]gUek_kgSeT� YY� �Si_]� ceU]d[&� Q� ��PP&��

Q��S&���&�Q�r&��P�Q��,&�

�&� +���0���
$#$�cs_i\_kgSe�S^�hSfUiT�kS�W]UfgRk�geTSi_kgSe�

Se�kgikUf�T\]^_RUT�YY��Si_]�ceU]d[&�Q���P�&�Q��S&�'O&�Q�r&����Q��,&�

�&� &���($�$'���.����($�$�v_iR\i_kgSe�S^��Si_]�b_fg_kgSe�

�eRgfUek�Se�_e��eRigeU��\]^_RU�YY�wg]Tk�v_e_fg_e��Si_]�b_fg_kgSe�

u_k_�xS]ZToSW&�Q�`W]gi��P���2���P�&�Q�nS]SekS2�yek_]gS2�v_e_�

f_2�zgegTk][�S^��\WWi[�_ef��U]sgRUT2�v_e_f_&�

��&� 	�������$
$'����-����1$�$'��������($�$�ug^^\TU�^]_RkgSe�

RS]]Ui_kgSeT�YY��Si_]�ceU]d[&�Q�����&�Q��S&��&�Q�qSi&�,�&�Q�r&��QP&�

��&� ���������$#$'�#�������$'�+������*$�$�cs_i\_kgSe�S^��'�

zSfUiT�kS�cTkgh_kU�aS\]i[�ug^^\TU��]]_fg_kgSe�Se��eRigeUf��\]^_R�

UT�YY�bUeU{_piU�ceU]d[&�Q�'���&�Q��S&�OO3(=&�Q�r&��,�(Q�,�'&�

�'&� #�23�����$�$�`�|\_Tg�Wo[TgR_i�hSfUi� ^S]�RSesU]kged�

oS\]i[� diSp_i� oS]gjSek_i� kS� fg]URk� eS]h_i� geTSi_kgSe&� bUWS]k�

�cb�Ynb�'���O��P�YY��Si_]�ceU]d[��eTkgk\kU2�}SifUe2�vy2����P&�

�O&� (�-0������$4$'�/�0�����$'�	������$	$&$������$�cTkgh_�

kgSe�S^� �eRgfUek��Si_]�b_fg_kgSe�Se�ngikUf��\]^_RU�p[�ug^^U]Uek�

chWg]gR_i� zSfUiTYY� �ek&� ~S\]e&� �Rg&� bUTU_]Ro� r\pigR_kgSeT&��

Q�'��'&�Q�qSi&�'&�Q��TT\U��'&�Q������''���O��O&�

�,&� ���5���$6$'� ����)���� ($�$�cTkgh_kUT� S^�aS\]i[�ug^�

^\TU�b_fg_kgSe�Se�ngikUf��\]^_RUT� ge��S\koU_Tk�S^��]_jgi� YY� �ek&i�

~S\]e&�bUeU{_piU�ceU]d[�bUTU_]Ro&�Q�'��O&�Q��S&��&�Q�qSi&�O&�

�Q�r&�'�PQ''�&�

��&� 7899:�7$;$'�<=>?8@�A$;$�� D���6 �D!�4 ::6�:�$:�

D��5/����$ 0�:��� 9��7�?� !"$$&�Q�E&-�E$!2���PP&�Q�,'��:&�

�(&� +��������� �$�$� �Si_]� ceU]d[�cedgeUU]ged-� r]SRUTTUT�

_ef��[TkUhT&�Q��SefSe-�`R_fUhgR�r]UTT2�'���&�Q�P(��W&�

�P&� BC@DE8FG=H� B$I$'� J:HCH8ECH8� K$L$'� M=DCECH8�

N$J$�	��$�4$���67� ! B$0� ��%����68� D�� !8��:# 7&� Q�J&-�


$�!�0 # �$/��#2���P�&�Q��P��:&�

��&� ��&	��&�a_efpSSZ�S^�w\ef_hUek_iT&�`ki_ek_2�}US]�

dg_-�`hU]gR_e��SRgUk[�S^�aU_kged2�bU^]gdU]_kgSe2�_ef�`g]�vSefg�

kgSeged�cedgeUU]T&�Q�����&�

OP$� 	�-�.��� ($'� Q�-��-� +$'� ������ +$'� +�������� �$'��

�


� ���#$�y]gUek_kgSe�_ef�ngik�uUWUefUeRU�S^�_�wgVUf�rq�`]]_[�

ceU]d[� �gUif� �_TUf� Se� zU_T\]UhUekT� S^� �Si_]� ceU]d[� _ef�

}]S\ef�`ipUfS�Q�_�v_TU��k\f[�S^��iSsUeg_� YY�ceU]d[�z_e_dU�

hUek� �[TkUhT2� ����-� �P����O�O�P��P��'&� Q� '���&�

okkW-YY{{{&gekURoSWUe&RShYpSSZTYUeU]d[�h_e_dUhUek�

T[TkUhTYS]gUek_kgSe_ef�kgik�fUWUefUeRU�S^�_�^gVUf�Ws�_]]_[�

UeU]d[�[gUif�p_TUf�Se�hU_T\]UhUekT�S^�TSi_]�UeU]&�

'�&� ����$&$1$'�����
$�$
$�uUkU]hgeged�koU�yWkgh\h�ngik�

`ediU� _ef� y]gUek_kgSe� ^S]� �Si_]� ceU]d[� vSiiURkgSe� �_TUf� Se�

zU_T\]Uf� �Si_]�b_fg_eRU�u_k_� YY� �ekU]e_kgSe_i� ~S\]e_i� S^� roS�

kSUeU]d[&�Q�'��P&�Q�`]kgRiU��u���,�'&�Q���W&�

'�&� ��3���*$�yWkgh\h�kgik�S^�_�TSi_]�RSiiURkS]�YY��Si_]�_ef�

xgef�nURoeSiSd[&�Q����P&�Q��S&�O&�Q�qSi&�,&�Q�r&�,�PQ,��&�

''&� %������� ($�$� tkgigj_kgSe� S^� T\e� _ef� TZ[� ]_fg_kgSe� ^S]�

oU_kged� RSSiged� S^� p\gifgedT� YY� `�ab`c� ~S\]e_i&� Q� ��PO&��

Q��S&��'&�Q�qSi&���&�Q�r&�O�Q,'&�

'O&� �0����$'�#��0�,������$'�
������	$'�������0�#$�$�yW�

kgh_i�kgik�_ediUT�^S]�TSi_]�RSiiURkS]T�^_Rged�TS\ko�_k�wUj�Rgk[�3zS�

]SRRS=� YY� ~S\]e&� �_k\]_i� �Rg&� bUTU_]Ro&� Q� '��,&� Q� �S&� ��&��

Q�qSi&�,&�Q�r&��'�Q�'P&�

',&� �RE8HCS@:>� RC� >T:?8FU����V$�*%!�$�:%�>���	&�

��:#5� �&� ���� 9��>� !��$�4$>2� !��$�4$���67� C����:� $� :���

� 9�� � :$>�$ &� Q� J&-� 
$�!�0 # �!���"$9 :%� � $/�&� Q� ��((&��

Q��'(�:&�

'�&� okkWT-YYUST{Up&i_]R&e_T_&dSsYRdg�

pgeYTTUYdiSp_i&Rdg�Uh_gimTZgW�i_]R&e_T_&dSs�

'(&� �-� ��-���$'�6���.���($�$�ye� koU� kUhWU]_k\]U�fUWUe�

fUeRU�S^�WoSkSsSik_gR�hSf\iU�UiURk]gR_i�WU]^S]h_eRU-�`� ]UsgU{�

S^� U RgUeR[YWS{U]� RS]]Ui_kgSeT� YY� �Si_]� ceU]d[&� Q� '���&��

Q��S&��O&�Q�r&�(�,Q(',&�

'P&� ��-������&'�%������
'���������
$������&�u_k_�_e_i[�

TgT� Se� TSi_]� g]]_fg_eRU� _ef� WU]^S]h_eRU� Ro_]_RkU]gTkgRT� S^� TSi_]�

hSf\iUT�{gko�_�kUTk�^_Rgigk[�S^�s_]gS\T�kgikUf�_ediUT�_ef�fg]URkgSeT�

YY��Si_]�ceU]d[�z_kU]��Si�vUiiT&�Q�'���&�Q��S&�(P&�Q�r&����Q(��&�

'�&� #������($�$'�%�0�����%$*$'���������$�noU�ghW_Rk�S^�

_]]_[� geRige_kgSe� _ef� S]gUek_kgSe� Se� koU� WU]^S]h_eRU� S^� _� d]gf�

RSeeURkUf� WoSkSsSik_gR� T[TkUh� YY� bUeU{_piU� ceU]d[&� Q� '��P&��

Q��S&�O'&�Q�r&����Q�,�&�

'�&� 	�0����#$#$'��0�������$'�	�0����	$������$�vShW\�

k_kgSe� S^� TSi_]� ]_fg_kgSe� kgik� ^_RkS]� _ef� SWkgh\h� kgik� _ediU� ^S]�

�_ei_fUTo� YY� �efg_e� ~S\]e&� y^� bfgS� �� �W_RU� ro[TgRT&� Q� ����&��

Q�qSi&�'�&�Q�r&�OPQ,�&��

O�&� +����($'�&�������$�ye�koU�SWkgh\h�kgik�S^�_�TSi_]�RSi�

iURkS]�YY��Si_]�ceU]d[&�Q���P�&�Q�qSi&��P&�Q��S&��&�Q�r&��PQ��'&�


